# ON OSGOOD-YANG'S CONJECTURE AND MUES' CONJECTURE

HONG-XUN YI AND YU-HUA LI

**Abstract.** In this paper, we deal with the relation between the characteristic functions of meromorphic functions that share three values CM. As applications of our main results, we shall affirmatively settle two conjectures proposed by Mues and Osgood-Yang.

## §1. Introduction

In this paper, a meromorphic function always means a function that is meromorphic in the complex plane  $\mathbb{C}$ . We use the usual notations in the Nevanlinna theory of meromorphic functions as explained in [1]. Denote by E any set of finite Lebesgue measure on  $(0, +\infty)$ , which is not necessarily the same at each occurrence.

Let f and g be two nonconstant meromorphic functions. We say that f and g share a value  $a \in \widehat{\mathbb{C}}$  provided that f(z) = a if and only if g(z) = a. We say that they share the value a CM resp. IM, when we are counting the multiplicity, resp. ignoring the multiplicity (see [2]).

In 1976, C. F. Osgood and C. C. Yang [3] proved the following theorem:

THEOREM A. Let f and g be two nonconstant entire functions of finite order. If f and g share 0,1 CM, then

$$T(r, f) \sim T(r, g) \quad (r \to \infty).$$

In [3], C. F. Osgood and C. C. Yang proposed the following conjecture:

OSGOOD-YANG'S CONJECTURE. ([3, p. 409]) Let f and g be two nonconstant entire functions sharing 0, 1 CM. Then

$$T(r, f) \sim T(r, g) \quad (r \to \infty, r \notin E).$$

Received April 23, 2001.

<sup>1991</sup> Mathematics Subject Classification: 30D35.

Project Supported by Shandong Province and National Natural Science Foundation of China.

In 1989, G. Brosch [4] proved the following theorem:

THEOREM B. Let f and g be two nonconstant meromorphic functions sharing three values CM. Then

$$\left(\frac{3}{8} + o(1)\right) \le \frac{T(r, f)}{T(r, g)} \le \left(\frac{8}{3} + o(1)\right) \quad (r \to \infty, r \notin E).$$

In 1990, W. Bergweiler [5] proved the following theorem:

THEOREM C. There exists a set  $I \subset (0, \infty)$  of infinite Lebesgue measure and there exist meromorphic functions f and g sharing  $0, 1, \infty$  CM such that

$$\liminf_{\substack{r \to \infty \\ r \in I}} \frac{T(r, f)}{T(r, g)} \ge 2.$$

Theorem C implies that the bound 8/3 in Theorem B cannot be replaced by any constant less than 2. In 1995, E. Mues [6] proposed the following conjecture:

MUES' CONJECTURE. ([6, p. 28]) Let f and g be two nonconstant meromorphic functions sharing three values CM. Then

$$\left(\frac{1}{2} + o(1)\right) \le \frac{T(r, f)}{T(r, g)} \le (2 + o(1)) \quad (r \to \infty, r \notin E).$$

In 1998, P. Li and C. C. Yang [7] proved the following theorem:

THEOREM D. Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$  CM. Then, for any positive number  $\varepsilon$ ,

$$T(r,g) \le (2+\varepsilon)T(r,f) + S(r,f).$$

In this paper, we deal with the relation between the characteristic functions of meromorphic functions that share three values CM. As applications of our main results, we shall affirmatively settle two conjectures proposed by Mues and Osgood-Yang.

# §2. Main results

Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$ CM. In this paper, we denote by  $N_0(r)$  the counting function of the zeros of f - g that are not zeros of f, f - 1 and 1/f.

THEOREM 2.1. Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$  CM. If

(2.1) 
$$\limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} > \frac{1}{2},$$

then

(2.2) 
$$T(r,f) \sim T(r,g) \quad (r \to \infty).$$

If

(2.3) 
$$0 < \limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} \le \frac{1}{2},$$

then

(2.4) 
$$T(r,f) \sim T(r,g) \quad (r \to \infty, r \notin E).$$

If

(2.5) 
$$\limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} = 0,$$

then

(2.6) 
$$\left(\frac{1}{2} + o(1)\right) \le \frac{T(r, f)}{T(r, g)} \le (2 + o(1)) \quad (r \to \infty, r \notin E).$$

By Theorem 2.1, we immediately obtain the following corollary, which shows that Mues' conjecture is true.

COROLLARY 2.1. Let f and g be two nonconstant meromorphic functions sharing three values CM. Then

$$\left(\frac{1}{2} + o(1)\right) \le \frac{T(r, f)}{T(r, g)} \le (2 + o(1)) \quad (r \to \infty, r \notin E).$$

THEOREM 2.2. Let f and g be two nonconstant entire functions sharing 0,1 CM. If

(2.7) 
$$\limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} > \frac{1}{2},$$

then

(2.8) 
$$T(r,f) \sim T(r,g) \quad (r \to \infty).$$

If

(2.9) 
$$\limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} \le \frac{1}{2},$$

then

(2.10) 
$$T(r,f) \sim T(r,g) \quad (r \to \infty, r \notin E).$$

By Theorem 2.2, we immediately obtain the following corollary, which shows that Osgood-Yang's conjecture is true.

COROLLARY 2.2. Let f and g be two nonconstant entire functions sharing two finite values CM. Then

$$T(r, f) \sim T(r, g) \quad (r \to \infty, r \notin E).$$

## §3. Some lemmas

LEMMA 3.1. ([1, p. 8] or [8, Theorem 1.11]) Let f and g be two nonconstant meromorphic functions. If f is a fractional linear transformation of g, then

(3.1) 
$$T(r,g) = T(r,f) + O(1).$$

LEMMA 3.2. ([8, Theorem 1.13] or [9]) Let f be a nonconstant meromorphic function, and let

$$R(f) = \sum_{k=0}^{n} a_k f^k / \sum_{j=0}^{m} b_j f^j$$

be an irreducible rational function in f with constant coefficients  $\{a_k\}$  and  $\{b_j\}$ , where  $a_n \neq 0$  and  $b_m \neq 0$ . Then

(3.2) 
$$T(r, R(f)) = \max\{n, m\} T(r, f) + S(r, f).$$

LEMMA 3.3. ([10, Theorem 1]) Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$  CM. If

(3.3) 
$$\limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} > \frac{1}{2},$$

then f is a fractional linear transformation of g.

LEMMA 3.4. ([10, Theorem 2]) Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$  CM. If

(3.4) 
$$0 < \limsup_{\substack{r \to \infty \\ r \notin E}} \frac{N_0(r)}{T(r,f)} \le \frac{1}{2},$$

then f is not any fractional linear transformation of g and one of the following relations occurs:

(3.5) (i) 
$$f = \frac{e^{s\alpha} - 1}{e^{(k+1)\alpha} - 1}, \quad g = \frac{e^{-s\alpha} - 1}{e^{-(k+1)\alpha} - 1},$$

(3.6) (ii) 
$$f = \frac{e^{(k+1)\alpha} - 1}{e^{(k+1-s)\alpha} - 1}, \quad g = \frac{e^{-(k+1)\alpha} - 1}{e^{-(k+1-s)\alpha} - 1},$$

(3.7) (*iii*) 
$$f = \frac{e^{s\alpha} - 1}{e^{-(k+1-s)\alpha} - 1}, \quad g = \frac{e^{-s\alpha} - 1}{e^{(k+1-s)\alpha} - 1},$$

where s and k ( $\geq 2$ ) are positive integers such that and  $1 \leq s \leq k$ , s and k+1 are relatively prime, and  $\alpha$  is a nonconstant entire function.

LEMMA 3.5. ([11, Lemma 1]) Let h be a nonconstant entire function. Then

(3.8) 
$$T(r,h') = o(T(r,e^h)) \quad (r \to \infty, r \notin E).$$

LEMMA 3.6. ([12, Lemma 1]) Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$  CM. If  $f \neq g$ , then

(3.9) 
$$f = \frac{e^q - 1}{e^p - 1}, \quad g = \frac{e^{-q} - 1}{e^{-p} - 1},$$

where p and q are entire functions such that  $e^p \neq 1$ ,  $e^q \neq 1$ ,  $e^{q-p} \neq 1$ , and

(3.10) 
$$T(r,g) + T(r,e^p) + T(r,e^q) = O(T(r,f)) \quad (r \notin E).$$

LEMMA 3.7. Let f and g be two nonconstant meromorphic functions sharing  $0, 1, \infty$  CM. If f is not any fractional linear transformation of g, then

(3.11)  

$$T(r,f) + T(r,g) = N\left(r,\frac{1}{f}\right) + N\left(r,\frac{1}{f-1}\right) + N(r,f) + N_0(r) + S(r,f).$$

*Proof.* Suppose that  $f \neq g$ . Since f and g share  $0, 1, \infty$  CM, by Lemma 3.6, we obtain (3.9) and (3.10). From (3.9) we get

(3.12) 
$$\frac{f}{g} = e^{q-p}, \quad \frac{f-1}{g-1} = e^q, \quad \frac{(f-1)g}{f(g-1)} = e^p.$$

If  $e^p$  is a constant, from (3.12) we obtain that f is a fractional linear transformation of g, which is a contradiction. Thus  $e^p$  is not constant. In the same manner as above, we have  $e^q$  and  $e^{q-p}$  are not constants. In this case, we have the following ([12, p. 309, (18)]): (3.13)

$$T(r,f) + T(r,g) = N\left(r,\frac{1}{g}\right) + N\left(r,\frac{1}{g-1}\right) + N(r,g) + N_0^*(r) + S(r,f),$$

where  $N_0^*(r)$  denotes the counting function of the zero of f - g that are not zeros of f and f - 1 (in [12], we use  $N_0(r)$  for  $N_0^*(r)$  in this paper).

Let

(3.14) 
$$N_0^{**}(r) := N_0^*(r) - N_0(r).$$

Next we proceed to estimate  $N_0^{**}(r)$ . It is obvious that  $N_0^{**}(r)$  denotes the counting function of the zero of f - g that are zeros of 1/f. Suppose that  $z_0$  is a zero of 1/f that is a zero of f - g. Since  $z_0$  is a zero of 1/f, by (3.9), we have

(3.15) 
$$e^{p(z_0)} = 1.$$

By (3.9), we also have

(3.16) 
$$f - g = \frac{e^q - e^p + e^{p-q} - 1}{e^p - 1}.$$

Note that  $z_0$  is a zero of f - g. By (3.16), we have

(3.17) 
$$e^{q(z_0)} - e^{p(z_0)} + e^{p(z_0) - q(z_0)} = 1.$$

By (3.15) and (3.17), we obtain

(3.18) 
$$e^{q(z_0)} = 1.$$

Since  $z_0$  is a zero of 1/f, by (3.9) and (3.18), we get that  $z_0$  is a zero of  $e^p - 1$  with multiplicity  $\geq 2$ , and hence  $z_0$  is a zero of  $(e^p - 1)' = p'e^p$ . Thus

(3.19) 
$$N_0^{**}(r) \le N\left(r, \frac{1}{p'}\right) \le T(r, p') + O(1).$$

By Lemma 3.5, (3.10) and (3.19), we have

(3.20) 
$$N_0^{**}(r) = S(r, f)$$

By (3.13), (3.14) and (3.20), we get (3.11), which proves Lemma 3.7.

## §4. Proof of Theorem 2.1 and Theorem 2.2

#### 4.1. Proof of Theorem 2.1

Suppose that  $f \not\equiv g$ . We consider the following three cases.

Case 1. Suppose that  $N_0(r)$  satisfies (2.1). By Lemma 3.3, we have that f is a fractional linear transformation of g. Hence, by Lemma 3.1, we obtain (2.2).

Case 2. Suppose that  $N_0(r)$  satisfies (2.3). By Lemma 3.4, we have that f is not any fractional linear transformation of g and one of (3.5), (3.6) and (3.7) occurs. We consider the following three subcases.

Subcase 2.1. Assume that f and g satisfy (3.5). Let

(4.1) 
$$R(w) := \frac{w^s - 1}{w^{k+1} - 1}$$

By (3.5), we have

(4.2) 
$$f = R(e^{\alpha}), \quad g = R(e^{-\alpha}).$$

Since  $1 \le s \le k$ , and s and k+1 are relatively prime, by Lemma 3.2, (4.1) and (4.2), we get

(4.3) 
$$T(r,f) = k T(r,e^{\alpha}) + S(r,e^{\alpha}),$$

and

(4.4) 
$$T(r,g) = k T(r,e^{-\alpha}) + S(r,e^{-\alpha}) = k T(r,e^{\alpha}) + S(r,e^{\alpha}).$$

By (4.3) and (4.4), we obtain (2.4).

Subcase 2.2. Assume that f and g satisfy (3.6). Let

(4.5) 
$$R(w) := \frac{w^{k+1} - 1}{w^{k+1-s} - 1}.$$

By (3.6), we have

(4.6) 
$$f = R(e^{\alpha}), \quad g = R(e^{-\alpha}).$$

By Lemma 3.2, (4.5) and (4.6), we get

(4.7) 
$$T(r,f) = k T(r,e^{\alpha}) + S(r,e^{\alpha}),$$

and

(4.8) 
$$T(r,g) = k T(r,e^{-\alpha}) + S(r,e^{-\alpha}) = k T(r,e^{\alpha}) + S(r,e^{\alpha}).$$

By (4.7) and (4.8) we obtain (2.4).

Subcase 2.3. Assume that f and g satisfy (3.7). Let

(4.9) 
$$R(w) := \frac{w^{k+1-s}(w^s - 1)}{1 - w^{k+1-s}}.$$

By (3.7), we have

(4.10) 
$$f = R(e^{\alpha}), \quad g = R(e^{-\alpha}).$$

By Lemma 3.2, (4.9) and (4.10), we get

(4.11) 
$$T(r,f) = k T(r,e^{\alpha}) + S(r,e^{\alpha})$$

and

(4.12) 
$$T(r,g) = k T(r,e^{-\alpha}) + S(r,e^{-\alpha}) = k T(r,e^{\alpha}) + S(r,e^{\alpha}).$$

By (4.11) and (4.12) we obtain (2.4).

Case 3. Suppose that  $N_0(r)$  satisfies (2.5). We consider the following two subcases.

Subcase 3.1. Assume that f is a fractional linear transformation of g. By Lemma 3.1, we obtain (2.2).

Subcase 3.2. Assume that f is not any fractional linear transformation of g. By Lemma 3.7, we obtain (3.11). By (2.5), we have

(4.13) 
$$N_0(r) = S(r, f).$$

Combining (3.11) and (4.13), we get

(4.14) 
$$T(r,f) + T(r,g) = N\left(r,\frac{1}{f}\right) + N\left(r,\frac{1}{f-1}\right) + N(r,f) + S(r,f).$$

It is clear that

(4.15) 
$$N\left(r,\frac{1}{f}\right) + N\left(r,\frac{1}{f-1}\right) + N(r,f) \le 3T(r,f) + O(1).$$

Combining (4.14) and (4.15), we obtain

(4.16) 
$$T(r,g) \le 2T(r,f) + S(r,f)$$

Similarly, we have

(4.17) 
$$T(r,f) \le 2T(r,g) + S(r,f)$$

Combining (4.16) and (4.17), we get (2.6). This completes the proof of Theorem 2.1.

# 4.2. Proof of Corollary 2.1

Let f and g share  $a_1, a_2, a_3$  CM, where  $a_1, a_2, a_3$  are three distinct elements in  $\widehat{\mathbb{C}}$ . Set

$$L(w) := \frac{(w - a_1)(a_2 - a_3)}{(w - a_3)(a_2 - a_1)}$$

Let F := L(f) and G := L(g). Then F and G share  $0, 1, \infty$  CM. By Theorem 2.1, we have

(4.18) 
$$\left(\frac{1}{2} + o(1)\right) \le \frac{T(r,F)}{T(r,G)} \le (2 + o(1)) \quad (r \to \infty, r \notin E).$$

By Lemma 3.1, we have

(4.19) 
$$T(r,f) = T(r,F) + O(1), \quad T(r,g) = T(r,G) + O(1).$$

Combining (4.18) and (4.19), we obtain

$$\left(\frac{1}{2} + o(1)\right) \le \frac{T(r, f)}{T(r, g)} \le (2 + o(1)) \quad (r \to \infty, r \notin E).$$

This completes the proof of Corollary 2.1.

#### 4.3. Proof of Theorem 2.2

Since f and g are two nonconstant entire functions, f and g share  $\infty$  CM. By Theorem 2.1, if  $N_0(r)$  satisfies either (2.7) or (2.3), then we have the desired conclusion. Next, we assume that  $N_0(r)$  satisfies (2.5). Then we have

(4.20) 
$$N_0(r) = S(r, f).$$

Since N(r, f) = N(r, g) = 0, we get (2.10) as in the proof of Theorem 2.1. This completes the proof of Theorem 2.2.

#### 4.4. Proof of Corollary 2.2

Let f and g share  $a_1, a_2$  CM, where  $a_1, a_2$  are two distinct points in  $\mathbb{C}$ . Set  $L(w) = (w - a_1)/(a_2 - a_1)$ . Let F := L(f) and G := L(g). Then F and G are two nonconstant entire functions sharing 0, 1 CM. By Theorem 2.2, we get

(4.21) 
$$T(r,F) \sim T(r,G) \quad (r \to \infty, r \notin E).$$

By Lemma 3.1, we see

(4.22) 
$$T(r,f) = T(r,F) + O(1), \quad T(r,g) = T(r,G) + O(1).$$

Combining (4.21) and (4.22), we obtain

$$T(r, f) \sim T(r, g) \quad (r \to \infty, r \notin E).$$

This completes the proof of Corollary 2.2.

Acknowledgement. The authors thank the referee for valuable suggestions.

#### References

- [1] W. K. Hayman, Meromorphic Functions, Clarendon Press, Oxford, 1964.
- [2] G. G. Gundersen, Meromorphic functions that share three or four values, J. London Math. Soc., 20 (1979), 457–466.
- [3] C. F. Osgood and C. C. Yang, On the quotient of two integral functions, J. Math Anal Appl., 54 (1976), 408–418.
- [4] G. Brosch, Eindeutigkeitssätze f
  ür meromorphe Funktionen, Thesis, Technical University of Aachen, 1989.

- [5] W. Bergweiler, On meromorphic functions that share three and on the exceptional set in Wiman-Valiron theory, Kodai Math. J., 14 (1990), 1–9.
- [6] E. Mues, Shared value problems for meromorphic functions, Value Distribution Theory and Complex Differential Equations, Univ. of Joensuu, Publications in Sci. No. 35, Joensuu, 1995, 17–43.
- [7] P. Li and C. C. Yang, On the characteristics of meromorphic functions that share three values CM, J. Math. Anal. Appl., 220 (1998), 132–145.
- [8] H. X. Yi and C. C. Yang, Uniqueness Theory of Meromorphic Functions, Pure and Applied Math. Monographs No. 32, Science Press, Beijing, 1995.
- [9] A. Z. Mokhon'ko, On Nevanlinna characteristics of some meromorphic functions, Theory of Functions, Functional Analysis and Their Applications, 14 (1971), 83–87.
- [10] Q. C. Zhang, Meromorphic functions sharing three values, Indian J. Pure Appl. Math., 30 (1999), 667–682.
- [11] H. X. Yi, On a result of Gross and Yang, Tôhoku Math. J., 42 (1990), 419–428.
- [12] H. X. Yi, Unicity theorems for meromorphic functions that share three values, Kodai Math. J., 18 (1995), 300–314.

Hong-Xun Yi Department of Mathematics Shandong University Jinan 250100 People's Republic of China hxyi@sdu.edu.cn

Yu-Hua Li Department of Mathematics Yunnan Normal University Kunming 650092 People's Republic of China lyh\_km@hotmail.com